Standard 1 Objective 1: Represent whole numbers

and decimals in a variety of ways
7 Question(s)

Test ID: 530

Name: Date:

Forced Response

1) Whatis 5,090.4 in words?

A. five thousand ninety—four tenths

B. five thousand ninety and four tenths
C. five thousand nine and four tenths
D. five hundred nine and four tenths

The group of blocks above represents a number

2) Which number do the blocks represent?

342
234
2,304
2,034
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3) The square blocks below represent the number one. In which picture does the shaded part show 1.6?

The rectangle represents the number one.

4 Which decimal is represented by the shaded part of the rectangle?

Which expanded form represents the number below?
5
) 4 ten—thousands, 7 hundreds, 6 tens
A. 40,000 + 700 + 60
B. 40,000 + 700 + 6
C. 40,000 + 7,000 + 6
D. 4,000 + 700 + 60

6) In which number does the digit 7 have the greatest value?

A. 49875
B. 4,682.7
C. 30,573
D. 1,795



The figure above is a model of a number sentence.
Which number sentence does this figure represent?
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7)

A. 9+3=12
B. 3x3=9
C.3+3=6
D. 2x3=6
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